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geteTfrat & ferad e : ~ \_Instructions for the candidates :

i

Questlon  Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet.

I
\ s furas practicable.

3 A HR g W 3. Figures in the right hand margin

gt R &3 21 indicate full marks.

gl @l az?ﬁgé&:’ 78+ 4. 15 minutes of extra time have been
" W??&i‘?ﬁ;; #F 15 e allotted for the candidates to read

quT A A the questions carefully.
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F [119)

5. & T Eiiiiaii g1 @Sl § &— 5. This question hooklet is divided into

G- T Gug-a/

R @ =t 3s ovet &7 I 3T
Afvard &1 35 w7 & afw @
ST § W g 35 F & Towiw
&I 1 Y 3 foTg 1 9 FriRe &)
T I 3 F forg Iwo WA
T OMR 3IWR-U% § Rw 70 @@l
faweg #t et / Fwet qT 9T T
g #R fEe Wt mEw F
&g/ el Wrel / T / G
T FT OMR Iav- TAF § WarT
FTAT TAT 8, =T G gRkvm
T=T g |

 @ve - aF 20 FITIFAL |
g & g 2 dE ERa & ~H
o et 10 @ IWv @
oifard & 1 T ik & @8
g ¢ 2 Fada wA A ™8
g & Rrg 8 o iR &,
o fagf 3 wvdl @ I A
Afrard 21

B} gFR & geragiiAe ITET F 8.

' sy gt A €

two sections — Section-A and

Section-B.

. @UZ-I7 ¥ 70 Fgfie g & 6 In

Section-A, there are
70 objective type questions, oul

“of which any 35 questions are to

be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark. For
answen'n.g these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liguid / blade / nail
etc. on. OMR Answer Sheet,
othérwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, oul of which
any 10 questions are to be
answered. Apart from these, there
are 6 long answer type
questions, each carrying
5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.

i

24/ A/ X11-5009-(36/40)

Page 2 / 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

119

QU - 7 / SECTION - A
a'\'ﬂﬁ%‘ "y / Objective Type Questions

T REr 18 70 w%mméx‘wwﬁaw&qw%&##ﬁ_
wz??:am#mgﬁwwﬁ%mmiom:ﬁzw&ﬁwaﬁrﬁﬁ?
35 ¥t @1 39w & - : 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR—Sheet. Answer any

35 questions. : 35x1 =35
1. Cew-1-GARw  Swfr a 2 o

(A) UFEHTSEWT & JuERH . (B) . W ¥ Iv€R §

(C) ﬁawﬁzﬁq%mﬁ (D). AT ¥ Ig=m §

What is the use of a]pha- l-antitrypsin ?-

(A) In treatmént of emphysema

(B) In tréatment of asthma

(C) As insecticidal'r;rotein |

(D) In treatment of diabetes

fyafafaa § @ feg Al gu Ifeas an &1 yadk gar 2 2

(A)  ZEHETH (B) RN

(C) PCR (D) §& T
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[119].

Which of the following methods is used for the amplification of

nucleic acid ?

(A) Transformation (B) Transfection

(C) PCR (D)  Micropropagation
mpammmﬁm%mmmﬁmma
ST R ? |

(A)  In<itd pH (B) &Td pH

(€) 3™ pH (D) vES aneha fR & pH

At what pH insecticidal protein synthesized - by Bacillus
thuringiensis becomes active ?

(A) Acidic pH

(B) Alkaline pH

(C) Neutral pH

(D) First acidic then alkaline pH
g‘aﬁr%ﬁmﬂraﬁﬂﬁﬁgmmmmm

g % Nl ¥ I
mm%ﬁ'aﬁ@;ﬁﬁﬁﬁwﬁaﬁﬁmmﬁmmw%?
() e B

©) Rt s D) EhAfERiE

nterference is utilized to prevent nematode infestation in

RNA 1
matode specific genes

tobacco plants. By which vector are ne
introduced ?

(A) Bacteriophage (B) Retrovirus
(C) Escherichia coli (D) Agrobacterium

I
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STt e Y e R wra F T w3 o

(A) 20 (B) 15

€ 27 D) 5

How many varieties of Basmati rice are grown in India ?
A) 20 B) 15

) 27 D) 5

R LR U TR R RN
S, et % afRw 6 gen w fek a2 o

(8) T @ Tt R (B) S S
(C) M3wH. . (D) .y e ey
Which of the following drganizations makes decision regarding the

validity of GM research and the safety of introducing GM

_ Q
organisms ? g\\
S
(A) ~Dep ent of Science and Technology
$

(B} Department of Biotechnology

(C) GEAC
(D) Indian Patent Office

e Ty w1 T g S d SgEAE A g9 R 2

(A) iRt (B) et
() i@ it (D) IR
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(119

Name of Ramdeo Mishra is associated with which field of

research ?

(A)  Ecology (B) Biotechnology
(C)  Green revolution (D)  Genetics
8. Hwﬁmﬁ%ﬂﬁﬁmwmm%?
(&) B B TR
€) shfufera +iftem (D) T-2eR Hif¥E
HIV attacks on which of the following cells ?
(&) Becells | | (B) T-cells
(C) Epithelial cell (D)  T-helper cell
o. v fadw sl e weEl &, go ¥ Gwe aei d wAw wN
HEAT 2 ?
(A) @ B) Treem
(€ o= (D) wpfifeerem
Going down of inerganic water soluble nutrients into the soil
nutrientsis called as .
(A) Fragmentation | (B) Leaching
(C) Catabolism (D)  Humification
10. T ® % IR Afvges g ffawar et ¢ »
A) 7 Taferm | (B) 1-5 fufem
(C) 20-25 faferm - (D) 2 TufeEm
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11,

12.

(119

According to Robert May how much is the global spccics

diversity ?
(A) 7 million (B)  1:5 million
(C)  20-25 million (D) 2 million

WA it N9 Rafewa fava 6 $a Ja Afvvar &1 fren sfwa 22

A)  2-4% (B) 81%

©) 5% | (D) 9%

Biodiversity of India is what percentage of the total global species

diversity ?
@A) 2-4% - (B) - &1%
C) 5% D). 9%
) \Q@ (D)
ﬁa@ﬁmgﬁaﬁ@@mﬁmommm%mm
&
ST 1 AT @Q
(A) Hzf%i@w _ B) Tl snfert s smsmwor
) fa Qe (D) ETEE wfa

What was the reason for extinction of more than 200 species of

| Cichlid fish in Lake Victoria ?

(A) Co-extinction (B) Alien species invasion
(C) Overexploitation (D) Habitat loss
24 /A [ XII-5009-36/40) Page 7 / 32
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ﬂ | [119]
. Fr=faRea 4 & 9 frvasrd s & wro @ @ ? |
(A) Sharew w9 =1 W@m (B) o=

(C) Sawm fepr (D) - St s g & A

Which of the following is not the reason for global warming ?

(A) Use of fossil fuels |

(B) Deforestation

(C) Population explosion

(D) Improvement in the efficiency of energy use

Frafrfae § @ F-u1 29 9 Of F N H IEI R ?

(A) TETHER

(B) Eﬁmm@m%

(C) g&rEd Hl I
¥

(D) mﬁ@&ﬁms@n

farming ?
(A) Itis cyclic
(B) Zero waste 18 generated

(C) Maximum utilization of resources

(D) Use of chemical fertilizers
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15.-

16.

17.

: [119]
RN & R A PrafaRes § @ S s @ 2 0 ‘
(A) TR IR HEeaqy watel e 2 |
(B) 'mﬁiﬂﬂ@ﬁaﬂ’rﬂéﬂﬁmm%

(C) TN I W A W

(D) TTHHT YIS & RrEt w e B 2

Which of the following statements is incorrect about temperature ?

() Temperature is the most important environmental factor
(B) Temperature decreases from the equator towards the pole
(C) Temperature increases with increase in hefght

(D) Temperature is low at the summit of a mountain

Tifsa Rdvt () A frelim =0 w1 1 e aw g0 R =R ®
fem @ 2 ?

() == B) Wl ww

(C) T & (D) urifesfes @

At which level is natural selection operated to evolve the desired
traits ?

(A) Individual level (B) Population level

(C) Community level (D) Ecosystem level

ua wafe % oy Rafe § FA-gd, FE-am v IR A T % st
%7 wiae FU9: 928 %A 3§ @ o 98 wiefafe w2 i anfy

(A) TR B) W@ R
c R (D) WfRR R
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18.

" When percentage of individuals of pre-reproductive,

(119

reproductive |

and post-reproductive phase is in decreasing order in the age

pyramid of human population, it shows that population is

(A) Expanding (B) Decreasing
(C) Stable (D) Unstable
frafafiaa 3 & 19 Sfavwa § & TR FQA 8 ?
(A) YEITd WETEPIE 9 Aoelt ud S|

(B) Tt
() vzt @ w@Aurft
(D) il @ I

Which of the following feproduces.once in a lifetime ?
(A) Pacific salmpn fish and bamboo

(B) Mammals

(C) Birds and mammals

(Dj Litchi and mango

R 6 uie Fehea: Gaftm faal & GrI-T1Y @ BT SR R AT 2

19.
(C) wShferar (D) @@
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(A) - Competitive exclusion (B) Resource partitioning
(C)  Parasitism (D} Commensalism
20. et % & Fa-a o feden gen eTEE IR A § 2
@ Fww B)  deigifm
(C)  <hih dien (D) @&
Which of the following plants pr_oducc;.s p(:;isonous cardiac
glycoside ?
(A) Cactus (B} . Calotropis
(C) Coffee plant (D) . Tobacco
21, frafafga & @ #19 sages #2
A) @ I (B) Fa T Ry
€) FEREE Sha (D) e, frary T F
Which of the following are decomposers ?
(A) Fungiand algae (B) Fungi and virus
(C) Fungiand bacteria (D)  Fungi, bacteria and virus
22. e & i St 3 forg i) S W # 2
a) AR B
(C) PpBR322 (D) B-erE
Page 11 / 32
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What was the reason for co-existence of five closcly related species

of warblers ?
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E (119 ]

Which of the following is not a cloning vector for bacteria ?

(A)  Bacteriophage (B) Plasmid
(C)  pBR322 (D) T-DNA
23.  Pefofen 3 3 frn Rft @ g G = 60 o= SR 5 35 4
AR o s 2 -
(A)  TESEA (B) E9T=OT
© SR (D) | Fa:A9w

Which of the following methods is used to inject recombinant DNA

into nucleus of animal cell directly ?

(A)  Transfection (B) . * Transformation
(C) Gene gun (D} ~Microinjection
24. S ¥ gum ¥ FEH H Y Gmen § Herfa @ 8 2
(A) TSRS (B) Hei
(€) drmEw (D) WA
For isolatiori 6f DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase
(C) DNase (D) Chitinase
rs faefafea 8§ § $-pBR322 | T & ?
a) wfagpfa =t saaf (B) Widauw ®=i
c A-dwu (D) Wi st st
24 /A /X11-5009-136/40) Page 12 / 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(119 ]

Which of the following is absent in pBR322 ?

A . .
(A)  Origin of replication (B)  Restriction site
(€) T-DN
A . (D)  Antibiotic resistant genes
afe wed St :
ﬁrﬁ%mi‘;’mmﬁmnﬁﬁtﬂsﬁqﬁmﬁmm,ﬁwﬁ
g w5y

If - . .' .
a foreign DNA is Inserted in tetracycline resistant gene, the

recombinant plasmid

(A) Will lose ampic:-illin resistance
(B) Will lose tetrar%\clme resistance
(C) Clomng w@ld become easier

(D) Amp&@n resistance will become stronger
frafafea @ 4 g ey 8 qoerh doae giedis T femn s @ 2

(A) wndfFEn (B) yHg usfewd
C) wuHEEiEm (D)  amfehaatien

From which of the following bacteria, thermostable DNA

polymerase is isolated ?

(A) Agrobacterium (B) Thermus aquaticus

(C) Mecthanobacterium (D) Archaebactena
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(119

28, Fefafea @ @ ¥R sfam S s Gvafia Fa R

(A)  unefEian (B) iy rrared qﬁ:{ﬁmﬁg
(C) yEaRRrT Hich (D) anfhawdifan

Which of the following bacteria synthesizes insecticidal protein ?

(A)  Agrobacterium (B)  Bacillus thuringiensis

(C)  Escherichia coli (D) Archaebacteria

29. Tr=ferfaa & & Sa-w wom a6 shepfa F A sma 2 2
(&) ST 1 wdfERaft wiasly g
(B) diwAe Ht sfipf w1 W@ G ey TR 2
(© wirphr i freh off Terht % aomREET IefEdE g 2
D) e < 2 e R do &
Which of the @ﬁving staterments is incorrect about DNA
replication ?Q\Q‘b”%
(A) DN%QreplicaLion is semi-conservative
(B) Main enzyme for DNA replication is DNA polymerasé
(C)} Mutation appears due to error in replication
(D)  Replication on both strands ol DNA is continuous
30. frafafEa d 7 #F T TsEEmE SREAT &% EAEA ¥ IWERT @
(A) SO T (B)  3NGAY i |
(C) AT ST I (D) A R 11
[24/8/X115009 wojsa] Page 14 / 32
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31.

32.

(119]

Which of the following enzymes is responsible for transcription of
ribosomal RNA ? |

(A} RNA polymerase (B) RNA polymerase I

(C) RNA polymerase II (D) RNA polymerase III

FT I I A 2 A & ¥ s vqed G0 A 21 ¥ e B A
HEd 8 ? | '

() IrEfy B wwERa

(C) iy (D) faftre

Some amino acids are coded by more than one codon. Such code is
known as

(A) unambiguous (B) ° degenerate/redundant

(C) universal | (D) . specific

A% SR 3 y 9 frgfer 2

(A) el AeIIHIsSS g2 E
(B) UTHiGH 2z AEH

(D) ZEURES # He TG

What is the role of y gene in lac operon ?
(A) Codes for B-galactosidase

(B) Codes for permease

(C) Codes for repressor gene

(D) Codes for transacetylase
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33.

34.

35.

[119]
AR T form srerm o i 2 2

(A)  yofig fowm (B)  qerT W fasm

G e () ar) fawm

Paleontological evidence is based on the study of

(A)  embryological development

(B) comparative anatomy

(C) fossils

(D)  divergent evolution

Te9 &9 G F1 gt & 2
(A)  gEd fawm (B) .t faera
(C) EHAR fawra (D) ®TeTH

N

What do analogm{s?\\structures show ?

(A) chr@q evolution (B) Convergent evolution

(C) Parallel evolution (D)  Saltation
gritfaefas e -faal 6t @0 %4 g8 2

(A) 18,000 ¥4 & (B) 10,000 34 gd
() 75,0007 @ (D) 40,000 3¢ &

When did pre historic cave art develop ?

(A) 18,000 years ago (B) 10,000 years ago
(C) 75,000 years 4go (D) 40,000 years ago
[ 24/A/X11 5009 sers0)| Page 16 / 32
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36.

& =h [119 ]
?:) :{T&ﬁwﬁﬁmﬁ?ﬁ?ﬁwm% ?
) 512 (B) fyerfim A
f%laliqq C Ry
Amount of ) Be
Nt of which vitamin
card > Min increases after conversion of milk into

(A)  Vitamin B
12 {B) Vitamin A
(C)  Vitamin ¢

a7 ﬁﬁﬁf@aﬁéﬁqﬂaﬁﬂm“mm%mﬁaﬁﬁmﬁﬁnﬁ
Hidifer QS # o
(A)  Wiwmm (B) uR@rwt
C) Rirsmray D) AR
Alexander Fleming discovered penicillin while working on which of
the following bacterid?
{A)  Streptocgtcus (B) Acetobacter
(C) Staphylococcus (D) Lactobacillus
38. fiefefga & & H FroRte % T 9 dwm @ o
(a) Wdww (B) WIwE
€ ¥hdfEm D R
Which of the following inhibits synthesis of cholesterol ?
(A) Protease (B) Streptokinase
(C) Penicillin | (D)  Statin
— 24/ A/ X11-5009-36/40) Page 17 / 32
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39.

40.

41.

[119]
T PR @ dve R E) g F w1 FE E 2
(A) Fds HauA (B) FEEIRRI
© ot g (D) J& TAH

Capacity to generate a whole plant from a plant cell is called as

(A) Tissue culture (B) Pluripotency

(C) Totipotency (D) Micropropagation
frarde ffafaa el & @ frem 7 @ 2

(A) ™ - B) ¥YE

© % (D) g

Hisardale is a breed o'f which of the following animals ?
(A) Cow (B) Buffalo

(C) Sheep (D) Chicken

frafafda § @ fra aedis & w@m 4 dien Ao g sfadt 9 gre W
foran e ?

A)  IANEE T (B) q@m
(C) HHW (D) Hdh "add

Which of the following techniques was used to get yellow mosac

virus resistant mung lentil ?

(A) Mutation breeding (B) Introduction
(C) Hpybridisation (D) Tissue culture
e
24 /A [/ X11-5009-(36/40) Page 18 / 32
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q2.

43.

44,

m%wm (119
G W mmﬁmmfiﬂﬁmmi&mv
Al = adfm oy

Q) o (B) u3 3mafm A

(D) W e ¥ 3w A 3ARM Ay
m

| t.:)vBmcnt of DNA fragments towards anode In
1S 1s DNA fragments being

(A) Negatively charged

Reason for

c]ectrophores

(8) Positi\rcly charged
(C)  Charged

(D) Charged with charges of both types
Frfafaa 4 @ @7 I § s (Ireataes) san & fore Jacerf T & >

(A)  yEaTiEs (B) WIew &e

€ = (D), " THeTh ()

Which of the following is ‘not responsible for vegetative propagation
of plants ?

(A) Offset (B) Bulb

(C) Rhizome (D)  Gemmule

faaferfga d @ -8 Sy 3G R ?

e e e Gl T qfen w &
B @ et

©)  fenfor o, srdeph oo & e s wa &

D) s i o < dram e §

Page 19 / 32
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[119 |

Which of the following statements is incorrect ?

: A hallus
(A)  Antheridia are present on antheridiophore of female t

of Marchantia
(B) Chara is monoecious
(C) Diploid gene forms gamete after meiosis

(D) Zoospores are formed in Cfdamydomonas'

Praffad 3§ & frg G FY T B AGH e A 8 P

45.
(a) e ' B) <4
(C) <R (D) AT
Which of the following plants is referred to as 'Terror of Bengal ?
(A) Water hyacinth (B) .~ Bamboo
(C) Lantana (D). Parthenium
46. i § @ 9 S T @ R 2
(a) et (B) A
(C) WTRLSHHT (D) 9T N
Which of the following is not a part of microsporangium ?
(A)  Endothecium (B) Tapetum
(C) Epidermis (D) Micropyle
47. mqﬂﬁﬁﬁﬁﬁﬁﬁﬂ%f@ﬁﬁﬁ%aﬁﬁm%m%mam
e &4 8 ?
()  HITAE PR . (B) A iR
o R (D) WY S
@ mT 24/ A/ X11-5009-36/40) Page 20/ 32
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48.

49.

(119

Whic ‘
h of the following cells divides to form two male gametes in
angiospermic plant ?

A) Vegetative cell (B)  Generative cell

(C)  Microspore mother cell (D)  Microspore
Frefafes § @ 9 a7e- qy 1?r TR 2

(A)  HER HITEH (B) 3

(C)  widreamard HifiwrT (D) TgE HY=
Which of the following is not associated with egg apparatus ?
(A} Synergid (B) Egg

(C) Antipodal cells (D) Filiform apparatus
TH % &S § W9 (o) T 1 FEAE 0

(A) YOS & e W=

(0 o Hmr%z;\@ (D)  yoffr e
Q

Scutellum present in the seeds of grass is called

(A) Endosperm (B) Cotyledon
(C) Seed coat (D)  Embryonal axis

@WW@&%@@WW@M@W%@%
e 3 oy, F | et gl el of @t A feae s @ 2

() Sywrfer (B) @I
(c) Ut e D) favaty fadet @1 faam
24 / A/ X11-5009-(36/40) Page 21 / 32
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ol.

S52.

[119)

: - d and true breedin
In a cross between true breeding red flowerc g

- : neration was pink
white {lowered plants of Antirrhinum the F, &°

flowered which is an example of

(A) Dominance

(B) Codominance

(C) Incomplete dominance

(D)  Blending of contrasting forms of a character
frfofga § @ S Fom smI 2 2

(&) et w1 fulor $RE W 3

(B) W fafes € @

(C) WX H Hwek Sgl § A @

(D) 7chit =1 3mag 3§ gids g R

Which of the fo]lbwing statements is incorrect ?
(A) Character§ are controlled by factors

(B) Factérs are discrete

(C) In pea, factors are in pairs

{b] Alleles blend with each other

Wad S F AT T HIRERR ST 9 @ 2

(A)  orefter 1 wimEor T g

(B) TF M F A THE A T e B |
(C) chier Tl I v B e §

(D) WerRA 1 ¥ HINEW TH T g ¥ W w9 of g
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[119]
What is the Cytological basis of law of independent assortment ?
(A} There is no blending of alleles
(B)  Alleles of a pair separate during gametc formation
(C)  Alleles may be dominant of recessive
(D) Pair of chromosomes arrange  themselves in  line
independently in metaphase |
53.  Fwmia 1 HwEw frgia fray SRR R ?
(A) H« (B) %A w I1f
(C) vl (D) &
Who propounded the chromosomal theory of inheritance ?
(A)  Mendel (B)  Sutton and Boveri
(C) Morgan (D) . * Henking
54. trefafga & & S e e 2 o
(A) =13 fagm Q\\“&Q (B)  FeETheet fgh
© = Fa—s‘r%& D) didifern
Which of th@ﬁllowmg Is nol a chromosomal disorder »
(A) Down's syndrome (B)  Klinefelter's syndrome
(C}  Turner's syndrome (D)  Haemophilia
55.  SITAU 1 X-Th0n faavia siehet feve fean 2
(A) nifw fafera vd Uafers $efem
(B) IS
(€) e v
(D) el
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56.

S57.

[119]

Who provided X-ray diffraction data of DNA?

(A)  Maurice Wilkins & Rosalind Franklin

(B) Chargaff

(C) | Watson and Crick

(D) Holley

& .9 % P w2

(A) o] S e e e @

B) w1 srgafies wered dee

() Hamy 1 rafies werf amee 2

(D) Forwryp 1 sngefen e amET 2

What was the conclusion of Hershey and Chase experiment ?
(A) Gcnétic materiatof bacteria is DNA

(B} Genetic material of viras is DNA

(C) Genetic'material of bacteria is RNA

(D) Genetic material of virus is RNA |
Proferfiaa 58 H9 qU REA (SRR Frem) T R 2
(A) UAG (B) UGA

(C) AUG (D) UAA

Which of the following is not a termination codon ?

(A) UAG (B) UGA
(C) AUG . (D) Uaa
e
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[119 ]
58. O ARG T Sreferor v ared 2 2
) T s s & s s w1 g
(B) U AN 1 TgarEm & JgN
(C) IR H i@
(D)  FRTAT i TR
- What is the meaning of charging of t-RNA ?
(A)  Linking of amino acid with cognate t-RNA
(B) Attachment of t-RNA with ribosome
(C)  Translation of RNA
(D) Modification of RNA
© 59, famfafiga # @ 9% samms A 2
a) T ‘ (B) et
C) F® (D) TEHAES
Which of the following is a non-infectious disease ?
(A) AIDS "~ (B) Malaria
(C) Cancer (D) Typhoid
o, Frefafaa § 3 fra w RN S W F 82
a) R (B) WA
) =i (D) —THENE
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51191

Which of the following blood cells is known as PMNL ?
(A)  Lymphocyte (B) Monocyte
(C)  Neutrophil (D)  platelets
61. frfeiRaa & ¥ frge warar Hiciegs § 2 8 7
(A) IgA (B) 1gG
© =M D) IgD
Which of the following is abundantly found in cqlostrum ?
(A)  IgA | B) IgG
(Cl IgM | (D) IgD
62. SEUfhled wrhla FR 2 |
(&)  HIeT (B W
© e (& D)
S
What is diace\@morphine ?
(A) c@&ﬁ | (B) Heroin
(C) Cannabinoid (D) Coke
63. ﬁmqﬂmﬁﬁqwﬁg&éﬁ% ?
@) TR B) TEHES
) TH (D) =gt
Which fever is confirmed by Widal test ?
(A) Malaria (B) Typhoid
(C) AIDS (D) = Pneumonia o
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[119]

64. WA % fha WE % aTe, W F W v anferat Rt At # 2
(&) 2@ - (B) 3WE
(C) 1 9H1g _ (D) ©HlE

After how many months of pregnancy, do limbs and digits of
embryo develop ?

(A) 2 months (B)

3 months
(C) 1 month (D) 6 months
65. Timfeiaa § ¥ = it wen & v wfa w@ 2 2
(A) T g B) wafie
(C) defie (D)  wafies gk

Which of the following secretes large amournt of progesterone ?

(A)  Graafian follicle (B) ¢ Corpus albicans

(C) Corpus 1uteum (D) - Primary follicle
66. m%mg@qmmmamw% ?
A) arf™ F@% (@ Pewer) (B) 0 UefyEt
(C) aﬁ%ﬂm EAINED (D) et T (fht SR)

After ovulation the ovum is surrounded by a group of cells called

(A) Corona radiata (B) Zona pellucida
(C) Granulosa cells (D)  Theca layer
67. Trefafiaa § ¥+ FiRe i 2
(A) ST (B) wufeE IHSH
) fidos 3es (D) I
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Which of the following cclls is haploid ?

(A)  Oogonia (B)  Primary 00Cyt€
(C) Secondary oocyte (D) Zygote
68. T T mi Fium e, 9 h_reee 2, 3 F1 FE 8 2
(A) W@ 20 B) SRREE
() @R (D) forod <@
A new contraceptive pill which is non-steroidal is referred as
(A) LNG 20 (B) Progestaset
(C) Saheli (D)  Lippes loop
69. 2001 % FAVAT ¥ AR WA H TG G X T ?
A) 1-1% (B) . 3:7%
(C) ™ 2% | (D) 3%
What is the population growth rate of India as per 2001 census ?
A) 1-1% (B) 3-7%
(C) Approximately 2% (D) 3%
70. ficfufas § @ #9 3ia. M gRE g A @ 2
(A) WIS 375 (B) T W 20
() fora 9 (D) WR-&
Which of the following IUDs is hormone releasing ?
(A) Multiload 375 (B) - LNG-20
(C) Lippes loop My CuT
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[119]
QYT - ¥ / SECTION - B

™ I W / Short Answer Type Questions

2 oi% Fraffer 3 g I & ) et 10 vt & I & 1 9w & FAC

10x2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks ; 10 x2=20

L et s s 2 0 2
What is incomplete dominance ?

2. IR A % e T AB W R = R w1t 0}, @ 3% daf F s @t
=1 8 ? | 2
What would be the blood group of offspring, if the blood group of
mother is AB and blood group of father is O ?

3. HFE SuEe v i W, wwe, Ay @ e © Ay % R s e =
LEict . | 2
Draw the symbols used for . male, female, mating and
consanguineous mating in human pedigree analysis.

4. wE Feim o e g 2 2
What are the ¢goals of Human Genome Project ?

5. arEfefaanEd HR td wEien & wamt (fyew) S gEu R 7 2
What is the relationship between thorns of Bougainvillea and
tendrils of Cucurbita ? | |

6. arAIteEn it fafm yarfval & T ford) g (o) weifen % fog AR
TSI IOREE P 2
Name the dit‘fer;ent species of Plasmodium. Which species is
responsible for malignant malaria ?

7. wmy gig W fa wRet w1 v @ 2 2
What are the factors which affect population growth ?
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8. WA Srpgen A s W :
Explain parasitic adaptations.
9. I Teradt whwen w2 2 2
| What is cell mediated immunity ?
10. W@ﬁﬂq-qw%aﬁtmww?}? 2
What is cyclosporin-A and what is its use ?
11. Wi & R Scaresar 7 8 2 2
What are the primary and scconﬂary PTOdUCtiVities ?
12. e swE FE 2 | 2
What is Dobson unit ? |
13. AT G 1 gum aur i $¥ F@ € 2 2
How are DNA fragments separated and isolated ?
14. ELISA®FT§ ? | 2
What is ELISA?
15. #HwE (MOET) ®I & ? 2
What is MOET.?
16. uﬁam@ﬁnﬁ%aﬁ%@mﬁmm%o 2
How is the name given to restriction endonuclease.s ?
17. ¥ A G G H A B 2
Describe the structure of micro-sporangium.
18. fg-f=m i =men & 2
Explain double fertilization.
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(119}
19 TAH (Wi dmifyn) g SRR wideE) @
Wﬁwﬁﬁwﬁ@@%mg(w )q:

What are
Spermatogonia '
» Phimary spermatocyte
Spermatocyn p ytes and secondary

20, - T '
mifYs it sy B2 I s w30
What are Contraceptive pills ? How do they function ?

< 3w ww / Long Answer Type Questions

& 26 I sIT avr F | Bt 3 0wl & s & 1 v & forg
5 3% et &1 397 sfmam 120 vt & g g

ovT §Eqr 21

3x§5=15
Question Nos. 21 to 26 are Long Answer-Type Questions. Answer any

3 questions. Each question carries 5 marks. Give your answer in about
120 words.

21, S fafyum 6 of ¥ St & =men &)
Explain th:e causes of biodiversity loss.
22, Prafafis o dfim fenf fad
(A) HERRESH
(B) wrufas s

Write short notes on the following :

3x5=18§

5

2%x23=5

(A)  Phosphorus cycle
(B) Primary immunity.

23, fmafafga w afye fonft o - 2x2i=5
() TSt
(B) e it TEHERE T
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24.

25.

26.

Write short notes on the following :

(A)  Allergy

(B) Chemical composition of DNA.

STl S . e eftam 3 g fe e ?

: 2
How is gene of interest amplified by using PCR -

frrferRee st & s 2

(A) Wﬂwﬁamﬁ%wﬁﬁﬁm%'ﬁ'

(B) R 3BT % o st 4y i 12 P

Answer the following questions :

[ 119

3
(A)  Stability of DNA is higher than that of RNA. How -

. o -
(B} What are the roles of three parts of transcription unit :

Prefafiga w dfirg feoft fod -

(A) JFigoT

(B) w@EEH (AT

Write brief notegion the following :
(A) Implautation

(B) Autogamy.

Ix23=5 .
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